Polynomial Long Division:

Step 1: Make sure the polynomial is written in descending order. If any tenﬁs are missing, use a
| zero to fill in the missing term (this will help with the spacing).

Step 2: Divide the term with the highest power inside the division symbol by the term with the
highest power outside the division symbol.

Step 3: Multiply (or distribute) the answer obtained in the previous step by the polynomial in front
of the division symbol.

Step 4: Subtract and bring down the next term.
Step S: Repeat Steps 2, 3, and 4 until there are no more terms to bring down.

Step 6: Write the final answer. The term remaining after the last subtract step is the remainder and
musi be written as a fraction in the final answer.
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Polynomial Synthetic Division:

Step 1: To set up the problem, first, set the denominator equal to zero to find the number to put In
the division box. Next, make sure the numerator is written in descending order and if any

terms are missing you must use a zero to fill in the missing term, finally list only the
coefficient in the division problem.

Step 2 : Once the problem is set up correctly, bring the leading coefficient (first number) straight
down.

Step 3 : Multiply the number in the division box with the number you brought down and put the
result in the next column.

Step 4 : Add the two numbers together and write the result in the bottom of the row.
Step 5 : Repeat steps 3 and 4 until you reach the end of the problem.

Step 6 : Write the final answer. The final answer is made up of the numbers in the bottom row with
the last number being the remainder and the remainder must be written as a fraction. The

variables or X’s start off one power less than the original denominator and go down one
with each term. |
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